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THE WAR OF THE WORLDS

WORKSHEET ANSWER KEY LEVEL 0

2a 1 the narrator 2

4 the narrator’s wife 5

2b 1 Ogilvy 2
4 the soldier 5
2¢ 1 Earth 2
4 machine 5
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3b Model answers:

2 He saw a cylinder opening in a

5 They talked to the Martians.
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Ogilvy
the soldier

the Martians

the old man

hole

Martian
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1 Ogilvy saw a meteorite from Mars. He ran to it.

hole.

3 He saw a big grey Martian with lots of arms.

4 Ogilvy and his friends went into the hole.

6 There was lots of green and white fire! It burned Ogilvy and his friends.

3 the Martians
6 the old man

3 the narrator’s wife

6 the narrator

3 cousin

6 weed
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The mystery word is: Martians

9A Reader’s own answers.

Ob Reader’s own answers.

6a Reader’s own answers.

6b Reader’s own answer:
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